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QUESTION 1

You notice a large number of latch: cache buffers lru chain and latch: cache buffers chains wait events. 

Which four might be reasons for these? (Choose four.) 

A. The same small number of blocks are repeatedly accessed by different sessions simultaneously. 

B. The buffer cache is undersized. 

C. Cursors are closed explicitly after each execution. 

D. A large number of connected user sessions are idle. 

E. DBWR is not writing the dirty buffers fast enough. 

F. Blocks are ageing out of the buffer cache frequently. 

G. Too many sort operations are being performed. 

Correct Answer: AEFG 

 

QUESTION 2

In which four situations does the RMAN DUPLICATE command use the "pull" method? (Choose four.) 

A. when the USING BACKUPSET clause is used 

B. when the SET ENCRYPTION clause is added before the DUPLICATE command 

C. when the SECTION SIZE clause is used 

D. when the number of auxiliary channels allocated is less than the number of target channels allocated 

E. when the USING COMPRESSED BACKUPSET clause is used 

F. when no auxiliary channels are allocated 

G. when IMAGE COPIES are used for the DUPLICATE operation 

Correct Answer: ACDE 

Reference: https://docs.oracle.com/database/121/BRADV/rcmdupdb.htm#BRADV299 

 

QUESTION 3

Which two are true about the ADR retention advisor in Oracle Database 12c Release 2? (Choose two.) 

A. ESTIMATE (SHORTP_POLICY = 192) estimates the space requirement based on the SHORTP_POLICY value of
192 minutes. 
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B. ESTIMATE (SHORTP_POLICY = 192, LONGP_POLICY = 2160) estimates the space requirement based on current
ADR diagnostics file space usage. 

C. ESTIMATE (SIZEP_POLICY = 209715200) estimates only the long retention policy. 

D. ESTIMATE (SHORTP_POLICY = 192, LONGP_POLICY = 8760) provides estimates that users can use to set
SIZEP_POLICY. 

E. ESTIMATE (SIZEP_POLICY = 209715200) estimates the value of LONGP_POLICY. 

Correct Answer: DE 

 

QUESTION 4

Which statement is true about transportable tablespaces? 

A. The tablespace data file or data files to be plugged in to the target database cannot have a different block size than
any of the source database\\'s data file or files. 

B. The cannot be dictionary-managed tablespaces 

C. The source tablespace can be encrypted D. They can be administrative tablespaces such as SYSTEM or SYSAUX 

Correct Answer: A 

 

QUESTION 5

Your CDB has a PDB, EMP_PDB. 

You successfully execute these commands as the SYSTEM USER in CDB$ROOT: 

Which two statements are true about C##USR1? (Choose two.) 

A. It can connect to EMP_PDB and view the data only in tables created by common users. 

B. It can connect to EMP_PDB but cannot view the data in any table in it. 

C. It can connect only to the root. 

D. It is a common user. 

E. It is a local user. 
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Correct Answer: AE 

 

QUESTION 6

Which three tasks are performed automatically by Database Upgrade Assistant (DBUA) when the database to be
upgraded is in archivelog mode and has the database flashback feature enabled? (Choose three.) 

A. It changes Oracle kernel parameters if required 

B. It creates a restore point to restore the database if the upgrade fails 

C. It drops all the invalid objects 

D. It calls the catctl.pl script to perform the upgrade process in parallel 

E. It automatically resets the COMPATIBLE parameter value to 12.0.0 

F. It modifies or creates new tablespaces as required 

Correct Answer: BCD 

 

QUESTION 7

Which method can be used to migrate from an on-premises Oracle Database 11g to Oracle Database 12c in the cloud if
the on-premises platform is big-endian? 

A. Oracle Loader-type external tables 

B. remote cloning 

C. RMAN Transportable Tablespace with Data Pump for all tablespaces 

D. Data Pump Transportable Tablespace for all tablespaces 

E. Data Pump Conventional Export/Import 

Correct Answer: C 

 

QUESTION 8

The TESTDB container database (CDB) contains two pluggable databases (PDBs), PDB1 and PDB2. 

USER1 is a local user in PDB1 and has the SYSBACKUP privilege. 

Connect descriptors for PDB1 and PDB2 are mapped to TNS aliases pdb1 and PDB2 in tnsnames.ora. 

Examine these commands executed by USER1 when all PDBs are open: 
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What is the outcome and why? 

A. An error is returned because the user is connected to a pluggable database. 

B. The current date is displayed. 

C. An error is returned because SQL commands cannot be executed from RMAN without using the SQL shell syntax:
SQL"". 

D. An error is returned because the user is not SYS. 

E. An error is returned because the user is not a common user. 

Correct Answer: C 

 

QUESTION 9

One of your databases supports an OLTP workload. 

If a better plan is discovered for a statement, then you want that plan to be used. 

Which two can cause better plans to be used for a statement? (Choose two.) 

A. adaptive cursor sharing 

B. using literals in SQL statements 

C. SQL Access Advisor 

D. SQL Performance Analyzer 

E. adaptive execution plans 

Correct Answer: CE 

 

QUESTION 10

In which two situations does the INHERIT ANY PRIVILIGES privilege regulate the privileges used? 

A. when a user creates a new user 

B. when a user performs a GRANT or REVOKE operation 

C. when a user queries a BEQUEATH CURRENT_USER view that references an invoker\\'s right procedure 

D. when a user runs a procedure created with invoker\\'s right 

E. when a user runs a procedure created with definer\\'s right 
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Correct Answer: CD 

Reference: https://docs.oracle.com/database/121/DBSEG/dr_ir.htm#DBSEG661 

 

QUESTION 11

Which three statements are true about the Automatic Database Diagnostic Monitor (ADDM)? (Choose three.) 

A. It analyzes only those memory components of the database instance that are impacting performance. 

B. It determines the segments on which waits are occurring when the database has a high number of buffer busy waits. 

C. It analyzes the performance of the database instance based on the latest two AWR snapshots. 

D. It determines SQL statements that are performing poorly. 

E. It recommends implementing SQL profiles to generate better execution plans. 

F. It analyzes only the components and waits that are impacting database performance. 

Correct Answer: BCD 

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14211/diagnsis.htm#g41683 

 

QUESTION 12

Examine these steps to create a Transparent Sensitive Data Protection (TSDP) policy with unified auditing 

to protect sensitive data in certain table columns: 

Create a TSDP policy and define the audit parameter for the audited columns. 

Create a TSDP sensitive type using DBMS_TSDP_MANAGE.ADD_SENSITIVE_TYPE. 

Associate the TSDP policy with the sensitive type by using 

DBMS_TSDP_PROTECT.ASSOCIATE_POLICY. 

Enable the TSDP policy at the sensitive type level. 

Associate the column to be audited to the sensitive type by using 

DBMS_TSDP_MANAGE.ADD_SENSITIVE_COLUMN. 

Identify the steps in the correct sequence. 

A. 1, 2, 3, 4, 5 

B. 2, 1, 4, 5, 3 

C. 2, 5, 1, 3, 4 

D. 1, 2, 4, 3, 5 
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E. 2, 1, 5, 3, 4 

Correct Answer: C 

Reference: https://docs.oracle.com/database/121/DBSEG/tsdp.htm#DBSEG399 

 

QUESTION 13

Which two statements are true about the In-Memory (IM) column store? (Choose two.) 

A. It may be used for columns in Index Organized Tables (IOTs) 

B. It may be used for columns in clustered tables 

C. IM area size is not controlled by Oracle Automatic Memory Management 

D. IM area size can be set at the CDB and PDB levels 

E. IM area size can be increased or decreased dynamically 

F. It is not used for partitioned tables 

Correct Answer: AE 

 

QUESTION 14

You want to partition the SALES table on the CITY and SALE_DATE columns. 

Which three partitioning methods can you use? (Choose three.) 

A. range 

B. interval 

C. hash 

D. list 

E. virtual column-based 

Correct Answer: ACD 

Reference: https://docs.oracle.com/database/121/VLDBG/GUID-6CE884AF-84A4-4E6A-
A3EFDCCEBCAB2DB2.htm#VLDBG00202 

 

QUESTION 15

The EMP_CDB1 and EMP_CDB2 CDBs are in ARCHIVELOG mode. 

Oracle Managed Files is enabled in both CDBs. 
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EMP_CDB1 has a PDB, EMP_PDB1. 

In EMP_CDB2, you log in as the SYS user. 

You plan to execute this statement: 

CREATE PLUGGABLE DATABASE emp_pdb2 FROM emp_pdb1@emp_link RELOCATE; 

Which two statements are true? (Choose two.) 

A. The AVAILABILITY MAX clause should be added to the command to ensure transaction consistency during the
relocation process. 

B. SYSOPER privilege should be granted to the user defined in EMP_LINK and used to connect to the remote
database. 

C. EMP_PDB2 should be opened in read-write mode to complete the relocation process. 

D. EMP_PDB1 should be dropped manually from EMP_CDB1 after executing the relocating command. 

E. EMP_LINK should exist as a public link in EMP_CDB1 and EMP_CDB2. 

F. Only EMP_PDB1 should be in local undo mode. 

Correct Answer: CE 
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